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 1st HOSTEL INTERNAL TEST : 09.08.2011 1st HOSTEL INTERNAL TEST : 09.08.2011GOAL TALENT SEARCH EXAM (GTSE)
[Time : 2.00 Hours] Full Marks  :  400CLASS : VIII (Sample Paper)

01. A body covers one-third of the distance with a
velocity v1, the second one-third of the distance
with a velocity v2 and the remaining distance
with a velocity v3. The average velocity is :

(1)
 1 2 3v v v

3
(2)  

1 2 3
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3v v v
v v v v v v

(3)
 1 2 2 3 3 1v v v v v v

3
(4) 1 2 3v v v

3
02. A body covered a distance of 11 m along a

semicircular path. The ratio of distance to
displacement is :
(1) 11 : 7 (2) 5 : 3 (3) 22 : 5 (4) 15 : 4

03. From the top of a building, a ball is dropped while
another is thrown horizontally at the same time.
Which ball will strike the ground first ?
(1) First
(2) Second
(3) Both the balls reach the ground

simultaneously
(4) None of the above

04. To hit a target, the shooter should point his gun:
(1) slightly lower than the target
(2) along the direction of target
(3) slightly higher than the target
(4) slightly sideways

05. Rolling friction :
(1) is independent of velocity
(2) varies with velocity
(3) increases with velocity
(4) decreases with velocity

06. A false balance has equal arms. An object weighs
W1 when placed in one pan and W2 when placed
in the other pan. Then the weight W of the object
is :

(1) 1 2W W (2) 1 2W W
2


(3) 2 2
1 2W W (4) 1 2W W

2


01. , d fi .M , d-rgkbZ nwjh v1 osx l s r;  djrk gS] nwl jh , d-rgkbZ
nwjh v2 osx l s rFkk cph gqbZ nwjh v3 osx l s r;  djrk gSA vkSl r
osx gSµ

(1)
 1 2 3v v v

3
(2)  

1 2 3

1 2 2 3 3 1

3v v v
v v v v v v

(3)
 1 2 2 3 3 1v v v v v v

3
(4) 1 2 3v v v

3
02. , d fi .M] , d v / ZòÙkkdkj i Fk i j 11 m yEch nwjh r;  djrk

gSA nwjh foLFkki u dk vuqi kr gSµ
(1) 11 : 7 (2) 5 : 3 (3) 22 : 5 (4) 15 : 4

03. , d Hkou ds ' kh"kZ l s , d xsan fxjk; k t krk gS rFkk ml h l e;  nwl js
xsan dks {kSfrt  fn' kk esa i Qsadk t krk gSA dkSu l k xsan i F̀oh i j i gys
fxjsxk\
(1) i gyk
(2) nwl jk
(3) nksuksa xasn , d l kFk i F̀oh i j fxjsxh
(4) mi ; qZDr dksbZ ugha

04. fdl h y{;  dks ekjus ds fy,  , d fu' kkusckt  dks v i us cUnwd dks
rkuuk pkfg, µ
(1) y{;  l s FkksM+k uhps
(2) y{;  dh fn' kk ds vuqfn' k
(3) y{;  l s FkksM+k mQi j
(4) FkksM++k cxy esa

05. yksVu ?k"kZ.k
(1) osx l s Lora=k gSA
(2) osx ds l kFk cnyrk gSA
(3) osx ds l kFk c<+rk gSA
(4) osx ds l kFk ?kVrk gSA

06. , d udyh rqyk dh Hkqt k cjkcj gSaA , d oLrq dk ot u W1 eki rk
gS t c , d i yM+s i j j[ kk x; k rFkk W2 t c nwl js i yM+s i j j[ kk
x; kA oLrq dk ot u W gS &

(1) 1 2W W (2) 1 2W W
2


(3) 2 2
1 2W W (4) 1 2W W

2

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07. When a bicycle is in motion but not pedalled,
the force of friction exerted by the ground on the
two wheels is such that it acts :
(1) in the backward direction on the front wheel

and in the forward direction on the rear wheel
(2) in the forward direction on the front wheel

and in the backward direction on the rear
wheel

(3) in the forward direction on both the wheels
(4) in the backward direction on both the wheels

08. How many 2 kg bricks can a man carry up a
staircase 8 m high in two hour if he works at
the average rate of 19.6 watt ?
(1) 450 (2) 750 (3) 375 (4) 900

09. If the earth stops rotating in its orbit about the
sun and its spinning motion continues then
there will be variation in the weight of the bodies
at :
(1) equator (2) latitude 60°
(3) poles (4) no where

10. As a bubble comes from the bottom of a lake to
the top, its radius :
(1) increases (2) decreases
(3) does not change (4) becomes zero

11. A construction worker’s helmet slips and falls
when he is 80 m above the ground. He hears
the sound of the helmet hitting the ground
4.2 seconds after it slipped.  Find the time taken
by sound to travel 80 m:  (g = 10 m/s2)
(1) 0.16 sec. (2) 0.2 sec.
(3) 0.12 sec. (4) 0.24 sec.

12. As a body rolls down an inclined plane, it has :
(1) only kinetic energy
(2) only potential energy
(3) both kinetic energy and potential energy
(4) neither kinetic energy nor potential energy

13. Ranu’s father has set up an electroplating factory
near his village. He should dispose off the waste
of the factory :
(1) in the nearby river.
(2) in the nearby pond.
(3) in the nearby cornfield.
(4) according to the disposal guidelines of the

local authority.

07. t c , d l kbfdy xfr esa gS i jUrq i SMy ugha yxk; k gks] rks nksuksa
i fg; ksa }kjk t ehu i j yxk; k x; k ?k"kZ.k cy bl  i zdkj gS fd ; g
cy yxrk gS&
(1) l keus ds i fg,  ds i hNs dh fn' kk esa rFkk i hNs ds i fg,  ds vkxs

dh fn' kk esa
(2) l keus ds i fg,  ds vkxs dh fn' kk esa rFkk i hNs ds i fg,  ds i hNs

dh fn' kk esa
(3) nksuksa i fg; ksa ds vkxs dh fn' kk esa
(4) nksuksa i fg; ksa ds i hNs dh fn' kk esa

08. 8m mQ¡ps l h<+h i j 2kg ds fdrus b±V dks  , d O; fDr 2 ?kaVs esa
mQi j ys t k l drk gS] ; fn og 19.6 okV ds vkSl r l s dk; Z djrk
gS\
(1) 450 (2) 750 (3) 375 (4) 900

09. ; fn i F̀oh l w; Z ds pkjks vksj v i us d{k esa ?kw.kZu djuk can dj nsrh
gS rFkk bl dh pØh;  xfr t kjh gS rks fi .Mksa ds ot u esa dgk¡
i fjoÙkZu gksxk &
(1) fo"kqor js[ kk (2) 60º v{kka' k
(3) / zqo (4) dgha ugha

10. , d cqycqyk l eqnz ds ry l s ' kh"kZ i j vkrk gS rks bl dh f=kT; k &
(1) c<+sxh (2) ?kVsxh
(3) ugha cnysxh (4) ' kwU;  gks t k, xh

11. , d fuekZ.kdehZ dk gSYesV fi Ql yrk gS rFkk fxjrk gS t c og t ehu
l s 80 m Åi j gSA og gSYesV ds fi Ql yus ds 4.2 l sds.M ds ckn
og gSYesV ds t ehu i j fxjus dh vkokt  l qurk gSA èofu }kjk
80 m r;  djus esa yxs l e;  dks Kkr djsa & (g = 10 m/s2)
(1) 0.16 sec. (2) 0.2 sec.
(3) 0.12 sec. (4) 0.24 sec.

12. , d oLrq , d fr jNs l rg i j uhps dh vksj yq<+drk gS] rks bl esa
gksrk gS &
(1) dsoy xfrt  mQt kZ
(2) dsoy LFkSfrd mQt kZ
(3) nksuksa xfrt  rFkk LFkSfrd mQt kZ
(4) u rks xfrt  u LFkSfrd mQt kZ

13. jkuw ds fi rk v i us xk¡o ds i kl  , d fo| qr IysfVax dh i QSDVªh LFkkfi r
djrs gSA mUgsa v i us i QSDVªh ds dwM+s dks i Qsaduk pkfg,
(1) ut nhdh unh esa
(2) ut nhdh rkykc esa
(3) ut nhdh [ ksr esas
(4) LFkkuh;  v f/ dkjh }kjk crk,  x,  fu"dkl u vuql kj
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14. A ray of light is incident on a plane mirror and
the angle of reflection is 60°. Calculate the angle
between the incident ray and the reflected ray.
(1) 30° (2) 120° (3) 60° (4) 45°

15. A violin string is made to vibrate. What would
cause the pitch of the note rise ?
(1) Increasing the frequency of vibration
(2) Decreasing the frequency of vibration
(3) Increasing the amplitude of vibration
(4) Decreasing the amplitude of vibration

16. Which one of the following can produce a parallel
beam of light from a point source of light ?
(1) Plane mirror (2) Convex mirror
(3) Concave mirror (4) None of these

17. Loudness of sound is measured in units of :
(1) decibel (dB) (2) metre (m)
(3) Hertz (Hz) (4) metre/second (m/s)

18. Akriti performs an experiment. She put an egg
shell in glass jar. She pours an acid on egg shell,
bubbles of “X” gas are formed,  since egg shell
are formed of Y. Identify X and Y.
(1) CO2, CaHCO3 (2) CO, CaCO3
(3) CO2, CaCO3 (4) CO, CaHCO3

19. When nitric acid reacts with washing soda, a
salt is formed. Identify the salt. The reaction
causes bubbling in tube which is due to the
formation of gas Y. Identify Y.
(1) Salt = NaNO3; Y = CO2
(2) Salt = Na2NO3; Y = CO2
(3) Salt = NaCl; Y = CO
(4) Salt = NaNO3; Y = CO

20. Few statements are given below :
(i) If an indicator gives a colour change with

an acid, it doesn’t give a change with a base.
(ii) If an indicator gives a colour change with

base, it does not give a change with an acid.
(iii) Change of colour in an acid and a base

depends on the type of indicator.
(iv) Both acids and bases change colour of all

indicators.
Which of the following statement(s) are incorrect ?
(1) (i), (ii) & (iii) (2) (i), (ii) & (iv)
(3) Only (iv) (4) Only (iii)

14. , d i zdk' k dh fdj.k , d l ery ni Z.k i j vki frr gksrh gS rFkk
i jkoÙkZu dk dks.k 60º gSA vki frr fdj.k rFkk i jkofÙkZr fdj.k ds
chp ds dks.k dh x.kuk djsa
(1) 30° (2) 120° (3) 60° (4) 45°

15. , d ok; yu rkj] dai u djus ds fy,  cuk; k x; k gSA èofu ds c<+rs
vkokt  dk dkj.k D; k gksuk pkfg, \
(1) dai u dh vkòfÙk c<+ jgh gSA
(2) dai u dh vkòfÙk ?kV jgh gSA
(3) dai u dk vk; ke c<+ jgk gSA
(4) dai u dk vk; ke ?kV jgk gSA

16. fuEufyf[ kr esa dkSu i zdk' k ds L=kksr l s l ekUrj i zdk' k fdj.k cuk
l drk gS\
(1) l ery ni Z.k (2) mÙky ni Z.k
(3) vory ni Z.k (4) buesa l s dksbZ ugha

17. èofu dh rh{k.krk bl  bdkbZ esa eki h t krh gS
(1) Msfl csy (dB) (2) ehVj (m)
(3) gV~Zt  (Hz) (4) ehVj/l sds.M (m/s)

18. vkdf̀r , d i z; ksx djrh gSA og v .Ms ds fNyds dks , d cjru
esa j[ krh gSA og v .Ms ds fNyds i j vEy Mkyrh gS] ‘X’ xSl  dk
cqycqyk curk gSA bl ds ckn v .Ms dk fNydk Y cukrk gSA X rFkk
Y dks pqusaA
(1) CO2, CaHCO3 (2) CO, CaCO3
(3) CO2, CaCO3 (4) CO, CaHCO3

19. t c ukbfVªd vEy]/ ksou l ksMk ds l kFk i zfrfØ; k djrk gS rks yo.k
dk fuekZ.k gksrk gSA yo.k dks pqusaA v fHkfØ; k ds dkj.k uyh esa
cqycqyk curk gS t ks xSl  Y ds cuus ds dkj.k gksrk gSA Y dks pqusaA
(1) yo.k = NaNO3; Y =CO2
(2) yo.k = Na2NO3; Y = CO2
(3) yo.k = NaCl; Y = CO
(4) yo.k = NaNO3; Y = CO

20. uhps dqN dFku fn,  x,  gSaµ
(i) ; fn , d l wpd] vEy ds l kFk jax i fjorZu nsrk gS] ; g {kkj

ds l kFk i jfoÙkZu ugha nsrk gSA
(ii) ; fn , d l wpd {kkj ds l kFk jax i fjorZu nsrk gS] ; g vEy

ds l kFk i fjoÙkZu ugha nsrk gSA
(iii) vEy rFkk {kkj esa jax i fjoÙkZu l wpd ds i zdkj i j fuHkZj djrk

gSA
(iv) vEy rFkk {kkj nksuksa l Hkh l wpdksa dk jax i fjoÙkZu djrk gSA
fuEufyf[ kr esa dkSu-l k dFku xyr gS\
(1) (i), (ii) rFkk (iii) (2) (i), (ii) rFkk (iv)
(3) dsoy (iv) (4) dsoy (iii)
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21. Read the following statements carefully :
(i) NaOH turns blue litmus red.
(ii) HCl turns red litmus blue.
(iii) Tooth decay is caused by the presence of a

base.
(iv)NaOH and HCl neutralise each other and form

salt and water.
Which of the following statement(s) are true ?
(1) (i), (ii) & (iv) (2) (iii) & (iv)
(3) (i) & (ii) (4) Only (iv)

22. Choose the incorrect statement(s) for rusting of
iron ?
(1) Rust is iron oxide (Fe2O3)
(2) It is a chemical change for which presence

of oxygen and water both are essential.
(3) It can be prevented by deposit a layer of metal

like chromium on iron.
(4) In humid climate, rusting process is slower

23. When magnesium ribbon is burnt, it burns with
“X” light and forms ash. When the ash is
collected and mixed with small amount of water,
an aqueous solution is formed.
What is the nature of the solution. Identify X &
nature respectively
(1) Yellow, Basic (2) Yellow, Acidic
(3) White, Basic (4) White, Acidic

24. Change in the state of water and colour change
on heating hack-saw blade are examples of :
(1) Physical change.
(2) Chemical change.
(3) Mechanical change
(4) Either physical or chemical change.

25. Choose the correct statement(s) about chemical
change and mark the correct code :
(i) New substances are formed.
(ii) It is generally reversible.
(iii) Digestion of food is a chemical change.
(iv) Sound may be produced during chemical

change.
Codes :
(1) (i), (ii) & (iii) (2) (i), (iii) & (iv)
(3) (i) & (iii) (4) (i), (ii) & (iv)

21. fuEufyf[ kr dFkuksa dks è; ku l s i <+saµ
(i) NaOH uhys fyVel  dks yky esa cnyrk gSA
(ii) HCl yky fyVel  dks uhys eas cnyrk gSA
(iii) nar{k; ] {kkj dh mi fLFkfr ds dkj.k gksrk gSA
(iv) NaOH rFkk HCl , d-nwl js dks mnkl hu djrk gS rFkk yo.k

rFkk t y dk fuekZ.k djrk gSA
fuEufyf[ kr dFkuksa esa dkSu l R;  gS\
(1) (i), (ii) rFkk (iv) (2) (iii) rFkk (iv)
(3) (i) rFkk (ii) (4) dsoy (iv)

22. yksgs esa t ax yxus ds fy,  xyr dFku dks pqusa µ
(1) t ax yksg vkWDl kbM (Fe2O3) gSA
(2) ; g , d jkl k; fud i fjoÙkZu gS ft l ds fy,  vkWDl ht u rFkk t y

dh mi fLFkfr vko' ; d gSA
(3) bl s yksgs i j Øksfe; e t Sl s / krq dh i jr  t ek dj cpk; k t k

l drk gSA
(4) ueh; qDr okrkoj.k esa] t ax yxus dh i zfØ; k / heh gksrh gSA

23. t c , d eSXusf' k; e dk i Qhrk t yk; k t krk gS] ; g 'X' i zdk' k l s
t yrk gS rFkk jk[ k cukrk gSA t c jk[ k dks t ek fd; k t krk gS rFkk
t y dh dqN ek=kk esa feyk; k t krk gS] , d t yh;  ?kksy curk gSA
?kksy dh i zdf̀r D; k gS\  'X' rFkk i zdf̀r dks Øe' k% pqusaµ
(1) i hyk] {kkjh; (2) i hyk] vEyh;
(3) mt yk] {kkjh; (4) mt yk] vEyh;

24. t y dh voLFkk esa i fjoÙkZu rFkk gSd-l kW CysM ds xeZ gksus i j jax
i fjorZu mnkgj.k gSµ
(1) HkkSfrd i fjoÙkZu dk
(2) jkl k; fud i fjoÙkZu dk
(3) ; kaf=kd i fjoÙkZu dk
(4) ; k rks HkkSfrd ; k jkl k; fud i fjorZu

25. jkl k; fud i fjoÙkZu ds ckjs esa l gh dFku pqusa rFkk l gh fodYi  dks
fpfUgr djsaµ
(i) u; k i nkFkZ curk gSA
(ii) ; g l kekU; r; k i fjoÙkZuh;  gSA
(iii) Hkkst u dk i puk jkl k; fud i fjoÙkZu gSA
(iv)jkl k; fud i fjoÙkZu ds nkSjku èofu mRi Uu gks l drh gSA
fodYi
(1) (i), (ii) rFkk (iii) (2) (i), (iii) rFkk (iv)

(3) (i) rFkk (iii) (4) (i), (ii) rFkk (iv)
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26. Anshul Goel performs a chemical reaction whose
chemical equation is as follows :
   CuSO4 (solution) + Fe   FeSO4 (solution) + Cu
The colour of CuSO4 solution, FeSO4 solution
and Cu deposits are A, B, C respectively. Identify
A, B, C.
(1) A = Blue, B = Brown, C = Green
(2) A = Blue, B = Green, C = Black
(3) A = Blue, B = Green, C = Brown
(4) A = Green, B = Brown, C = Blue

27. Geeta performs an activity. She collects the
chalk dust lying on the floor near the blackboard
in her classroom. She added little water to make
it paste. She rolls it into the shape of piece of
chalk. It is an example of :

(1) Chemical change

(2) Physical change

(3) Both physical and chemical change

(4) Neither physical nor chemical change

28. A large amount of acidic waste from the factories
is thrown into the river which is very harmful
for aquatic plants and animals. What must be
done to this waste before throwing into the river?

(1) It should be treated with acetic acid.

(2) It should be treated with basic substances.

(3) It should be treated with salt solution.

(4) It should be treated with citric acid.

29. Ozone absorbs harmful radiation and breaks
down to oxygen. Name the radiation and type of
change.

(1) UV radiation, Physical change.

(2) IR radiation, Physical change.

(3) UV radiation, Chemical change.

(4) IR radiation, Chemical change.

30. Sodium metal is very reactive . It reacts
vigorously with oxygen and water. A lot of heat
is generated in the reaction. Hence, it is stored
in :

(1) Spirit (2) CuSO4 solution

(3) Brass jar (4) Kerosene

26. va' kqy xks; y , d jkl k; fud v fHkfØ; k i znf' kZr djrk gS ft l dk
jkl k; fud l ehdj.k fuEu i zdkj gSµ

   4 4CuSO Fe FeSO Cu  ?kkys ?kksy

 4CuSO ?kkys ] FeSO4 ?kksy rFkk Cu fu{ksi  dk jax Øe' k%
A, B, C gSA A, B, C dks pqusaµ
(1) A = uhyk] B = Hkwjk] C =  gjk
(2) A = uhyk] B = gjk] C = dkyk
(3) A = uhyk] B = gjk] C = Hkwjk
(4) A = gjk] B =Hkwjk] C = uhyk

27. xhrk , d xfrfof/  i znf' kZr djrh gS] og v i uh d{kk ds ' ; kei V~V
ds i kl  ds t ehu i j fxjs gq,  / wy dks t ek djrh gSA og bl s ysi
cukus ds fy,  bl esa FkksM+k i kuh feykrh gSA og bl s pkWd ds VqdMs+
ds vkdkj esa yi sVrh gSA ; g bl dk mnkgj.k gS
(1) jkl k; fud i fjoÙkZu dk
(2) HkkSfrd i fjoÙkZu dk
(3) HkkSfrd rFkk jkl k; fud nksuksa i fjoÙkZu dk
(4) u rks HkkSfrd u gh jkl k; fud i fjoÙkZu dk

28. dkj[ kkuksa ds vEyh;  v i f' k"V dh v f/ d ek=kk dks ufn; ksa esa i Qsadk
t krk gS t ks t yh;  i kS/ ksa rFkk t kuojksa ds fy,  cgqr gkfudkjd gSA
unh esa i Qsadus l s i gys bl  v i f' k"V dks D; k t : j djuk pkfg, \
(1) bl s , l hfVd vEy ds l kFk i zfrfØ; k djk; k t kuk pkfg, A
(2) bl s {kkjh;  i nkFkks± ds l kFk i zfrfØ; k djk; k t kuk pkfg, A
(3) bl s yo.k ?kksy ds l kFk i zfrfØ; k djk; k t kuk pkfg, A
(4) bl s l kbfVªd vEy ds l kFk v fHkfØ; k djk; k t kuk pkfg, A

29. vkst ksu gkfudkjd i zdh.kZuksa dks vo' kksf"kr djrk gS rFkk vkWDl ht u
esa rksM+rk gSA i zdh.kZu dk uke rFkk i fjoÙkZu dk i zdkj gS
(1) UV i zdh.kZu] HkkSfrd i fjorZu
(2) IR i zdh.kZu] HkkSfrd i fjoÙkZu
(3) UV i zdh.kZu] jkl k; fud i jforZu
(4) IR i zdh.kZu] jkl k; fud i fjorZu

30. l ksfM; e / krq cgqr v fHkfØ; k' khy gSA ; g vkWDl ht u rFkk t y ds
l kFk i zcy v fHkfØ; k djrk gSA v fHkfØ; k esa cgqr v f/ d ek=kk esa
m"ek mRi Uu gksrh gSA bl fy,  bl s l axzfgr fd; k t krk gS&
(1) fLi fjV esa (2) CuSO4 ?kksy eas
(3) i hry ds cÙkZu esa (4) fdjksfl u esa
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31. When a copper vessel is exposed to moist air for
long, it acquires a dull green coating. The green
material is a mixture of :

(1) Cu(OH)2 and CuCO3
(2) Co(OH)2 and COCO3
(3) CuO and CuCO3
(4) Cu(OH)2 and CuO

32. Phosphorous is a very reactive non-metal. It
catches fire if exposed in air. To prevent the
contact with atmospheric oxygen, it is stored in:
(1) Kerosene (2) Air tight jar
(3) Aluminium vessel (4) Water

33. Choose the correct statement(s) and mark the
correct code :
(i) Cu does not react with dil. HCl even on

heating.
(ii) Cu reacts with dil. HCl vigorously.
(iii) Cu reacts with dil. HCl on heating.
(iv)Cu reacts with conc. H2SO4.
Codes :
(1) (iv) (2) (ii) & (iv)
(3) (i) & (iv) (4) (iii) & (iv)

34. Aluminium foil is used for wrapping food. The
property of aluminium to be formed into thin foil
is due to :
(1) Malleability (2) Ductility
(3) Lustrous (4) Sonorous

35. Which of the following is not included in Animal
nutrition ?
(1) Presence of complete digestive system
(2) nutrient requirement
(3) mode of intake of food
(4) utilisation of food in the body

36. Incorrect statement about stomach is :
(1) It is a thin-walled bag
(2) It receives food from the food pipe at one end

and opens into the small intestine at the
other

(3) Its inner l ining secretes mucous,
hydrochloric acid and digestive juices.

(4) The mucous protects the lining of the
stomach.

31. t c , d rk¡cs ds cÙkZu dks v f/ d l e;  rd ueh; qDr ok; q esa NksM+k
t krk gS rks ; g gYdk gjk jax dk ysi  i zkIr djrk gSA gjk i nkFkZ
bl dk feJ.k gS
(1) Cu(OH)2 vkSj CuCO3
(2) Co(OH)2 vkSj COCO3
(3) CuO vkSj CuCO3
(4) Cu(OH)2 vkSj CuO

32. i QkWLi Qksjl  vR; ar v fHkfØ; k' khy v / krq gSA ; fn bl s ok; q esa NksM+k
t k,  rks bl esa vkx i dM+ ysrk gSA okrkoj.kh;  vkWDl ht u ds l Ei dZ
l s cpkus ds fy,  bl s bl esa l axzfgr fd; k t krk gSµ
(1) fdjksfl u (2) ok; q: ¼ cÙkZu
(3) , yqfefu; e cÙkZu (4) t y

33. l gh dFkuksa dks pqusa rFkk l gh fodYi  dks fpUghr djsa
(i) Cu xeZ djus i j Hkh ruq HCl ds l kFk v fHkfØ; k ugha djrk

gSA
(ii) Cu rqu HCl ds l kFk i zcyrk l s v fHkfØ; k djrk gSA
(iii) xeZ djus i j Cu ruq HCl ds l kFk v fHkfØ; k djrk gSA
(iv) Cu, H2SO4 ds l kFk v fHkfØ; k djrk gSA
fod Yi
(1) (iv) (2) (ii) rFkk (iv)

(3) (i) rFkk (iv) (4) (iii) rFkk (iv)

34. , yqfefu; e i Uuh dk mi ; ksx Hkkst u yi sVus ds fy,  fd; k t krk gSA
, yqfefu; e ds bl  xq.k ds dkj.k bl dks i rys i Uuh : i  esa cuk; k
t krk gS &
(1) vk?kkro/ Zuh; rk (2) rU; rk
(3) pedhyk (4) xqat k; eku

35. fuEufyf[ kr esa dkSu i ' kqvkgkj ds vUrxZr ugha vkrk gS\
(1) i w.kZ i kpu i ¼fr dh mi fLFkfr
(2) vko' ; d i ks"kd
(3) Hkkst u xzg.k djus dk r jhdk
(4) ' kjhj esa Hkkst u dk mi ; ksx

36. vek' k;  ds ckjs esa xyr dFku dks pqusa &
(1) ; g , d i rys&nhokj dh FkSyh gSA
(2) ; g , d NksM+ l s vkgkj uyh l s Hkkst u xzg.k djrk gS rFkk

NksVh vk¡r ds nwl js NksM+ i j [ kqyrk gSA
(3) bl dh vkarfjr vLrj ' yse] gkbMªksDyksfjd vEy rFkk i kpd

jl  Jkfor djrk gSA
(4) ' yse] vkek' k;  ds vLrj dh j{kk djrk gSA
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37. Some amount of lime water is poured in a test
tube. A plastic straw is inserted in it such that
it completely dips in lime water. What happens
to lime water when air is gently blown through
the straw a few times ?
(1) Lime water remains same and there is no

change.
(2) Lime water turns milky in colour
(3) Lime water decreases in amount
(4) None of these

38. Identify the correct statement.
(1) Each ovary of plant contains four ovules.
(2) Pollen grains have a soft protective coat.
(3) Some seeds are dispersed when the fruits

bursts with sudden jerks.
(4) Some fruits are fleshy and juicy like walnuts.

39. Which of the following is not a communicable
disease in humans ?
(1) Cancer (2) Cholera
(3) Tuberculosis (4) Chicken pox

40. Identify the incorrect statement about
microorganisms.
(1) They can be used to degrade harmful and

smelly substances.
(2) Some micro organisms cause diseases in

plants and animals.
(3) It is used for the production of alcohol, wine

and acetic acid commercially.
(4) Alexandar Fleming discovered Streptomycin

(an antibiotic)
41. Which of the following antibiotics is not produced

by fungi and bacteria ?
(1) Streptomycin (2) Tetracycline
(3) Erythromycin (4) None of these

42. (I) Egg of ostrich measures 170 mm  130 mm.
(II) Each organ is made up of smaller part called

tissues.
(III) WBC in human blood can change its shape.
(IV) All cell organelles are present in nucleus of

cell.
(V) Plastids are present in all animal cells.
(1) I and II are wrong
(2) I, II and V are wrong
(3) III and IV are correct
(4) I, II and III are correct

37. , d i j[ kuyh esa pwuk t y dh dqN ek=kk Mkyh t krh gSA IykfLVd
ds , d LVªkW dks ml esa bl  i zdkj Mkyk t krk gS rkfd ; g pwuk t y
esa i w.kZr% Mwc t k, A t c gok dks dqN l e;  ds fy,  LVªkW l s xqt kjk
t krk gS] rks pwuk t y dk D; k gksrk gS\
(1) pwuk t y oSl k gh jgrk gS rFkk dksbZ i fjoÙkZu ugha gksrk gSA
(2) pwuk t y dk jax nwf/ ; k gks t krk gSA
(3) pwuk t y dh ek=kk ?kV t krh gSA
(4) buesa l s dksbZ ughaA

38. l gh dFku pqusa &
(1) i kS/ s ds i zR; sd vaMk' k;  esa pkj cht akM gksrs gSaA
(2) i jkxd.k esa eqyk; e j{kkdop gksrs gSaA
(3) t c vpkud / Ddk yxus l s i Qy i QVrk gS rks dqN cht  i QSy

t krk gSA
(4) dqN i Qy v [ kjksV dh rjg js' ksnkj rFkk jl hys gksrs gSaA

39. fuEufyf[ kr esa dkSu euq";  esa l aØked fcekjh ugha gS\
(1) dSal j (2) gSt k
(3) ; {ek (4) pspd

40. l w{et hoksa ds ckjs esa xyr dFku dks pqusaA
(1) budk mi ; ksx gkfudkjd rFkk cncwnkj i nkFkks± dks rksM+us esa

fd; k t krk gSA
(2) dqN l w{e t ho i kS/ ksa rFkk i ' kqvksa esa jksx mRi Uu djrs gSaA
(3) bl dk mi ; ksx O; ol kf; d : i  l s vYdksgy] ' kjkc rFkk

, l hfVd vEy cukus esa fd; k t krk gSA
(4) , ysDt sUMj Ýysfeax] LVªsIVksekbl hu ( , d t hok.kquk' kd)  dk

[ kkst  fd, A
41. fuEufyf[ kr i zfrt hfo; ksa esa fdl s i Qaxh rFkk t hok.kq }kjk ugha cuk; k

t krk gS\
(1) LVªsIVksek; l hu (2) VsVªkl k; fDyu
(3) bfjFkzksek; fl u (4) buesa l s dksbZ ughaaA

42. (I) vkWfLVªp ds v .Ms dh eki  170 mm × 130 mm gSA
(II) i zR; sd vax , d NksVs VqdM+s l s cus gksrs gSa ft l s mÙkd dgrs

gSaA
(III) ekuo jDr esa WBC v i uk vkdkj cny l drk gSA
(IV) l Hkh dksf' kdh;  vax] dksf' kdk ds dsUnzd esa mi fLFkr gksrk gSA
(V) IykfLVM] l Hkh t Urq dksf' kdkvksa esa mi fLFkr gksrs gSaA
(1) (I) rFkk (II) xyr gSaA
(2) (I), (II) rFkk (V) xyr gSaA
(3) (III) rFkk (IV) l gh gSaA
(4) (I), (II) rFkk (III) l gh gSaA
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43. Which of the following is absent in animal cell
but present in plant cell ?
(1) Cell wall (2) Vacuole
(3) Plastids (4) All of these

44. Which of the following is an unit of inheritance
in living organisms and controls the transfer of
hereditary characteristics from parents to
offspring ?
(1) Gene (2) Chromosome
(3) Chromatin (4) Protein

45. The different parts of a male sperm in human
beings is :
(1) head and tail
(2) head, middle piece and tail
(3) head and middle piece
(4) head, neck and tail

46. How many statements given below are incorrect?
(I) Fertilisation in humans is called internal

fertilisation.
(II) Babies born through IVF are called ‘test tube

babies’
(III) External fertilisation takes place in frogs.
(IV) Uterus is also called oviduct in humans.
(1) One (2) Two (3) Three (4)Four

47. The process of production of an exact copy of a
cell, any other living part or a complete organism
is known as :
(1) budding (2) cloning
(3) duplication (4) multiplication

48. The correct statement about air pollution is :
(1) Vehicle produces low level of air pollutants.
(2) Carbon monoxide is produced by incomplete

burning of fuels which causes air pollution.
(3) Industries are not responsible for causing

air-pollution.
(4) CFCs protect the ozone layer of the

atmosphere.
49. The pollutants which are causing discolouration

of the white marbles of Taj Mahal are mainly :
(1) Carbon dioxide and sulphur oxide.
(2) Carbon monoxide and nitrogen dioxide.
(3) Sulphur trioxide and carbon monoxide.
(4) Sulphur dioxide and nitrogen dioxide.

43. fuEufyf[ kr esa dkSu t Urq dksf' kdk esa vuqi fLFkr gksrs gSa i jUrq i kni
dksf' kdk esa mi fLFkr gksrs gSa \
(1) dksf' kdk fHkfÙk (2) j l / kuh
(3) IykfLVM (4) buesa l s l Hkh

44. fuEufyf[ kr esa dkSu t hfor i zkf.k; ksa esa oa' kkuqØe dh bdkbZ gS rFkk
oa' kkuqxr xq.kksa dks t ud l s cPpksa esa LFkkukarj.k dks fu; af=kr djrk
gS \
(1) t hu (2) xq.kl w=k
(3) ØksesfVu (4) i zksVhu

45. euq";  esa uj ' kqØk.kq ds fofHkUu Hkkx gSa &
(1) ' kh"kZ rFkk i qPN
(2) ' kh"kZ] eè;  [ kaM rFkk i qPN
(3) ' kh"kZ rFkk eè;  [ kaM
(4) ' kh"kZ] xzhok rFkk i qPN

46. uhps fn,  x,  dFkuksa esa fdrus xyr gSa\
(I) euq";  esa fu"kspu] vkarfjd fu"kspu dgykrk gSA
(II) IVF l s t Uesa cPps dks VsLV V~; wc csch dgrs gSaA
(III) es<+d esa okg~;  fu"kspu gksrk gSA
(IV) xHkkZ' k; ] euq";  esa vMaokfguh dgykrh gSA
(1) , d (2) nks (3) rhu (4) pkj

47. dksf' kdk dk dksbZ nwl jk l t ho Hkkx ; k i w.kZ t ho dk l Vhd : i  ds
mRi Uu gksus dh i zfØ; k dgh t krh gS &
(1) vadqju (2) Dyksfuax
(3) i zfrfyfi dj.k (4) xq.ku

48. ok; q i znw"k.k ds ckjs esa l gh dFku pqusa &
(1) okgu fuEu Lrj dk ok; q i znw"kd mRi Uu djrs gSaA
(2) v i w.kZ t ys bZ/ u l s dkcZu eksuksvkWDl kbM curk gS t ks ok; q

i znw"k.k dk dkj.k gSA
(3) ok; q i znw"k.k ds dkj.k ds fy,  dkj[ kkuk mÙkjnk; h ugha gSA
(4) okrkoj.k dk vkst ksu i jr  CFCs l s j{kk djrk gSA

49. rkt egy ds mt ys l axejej dk jax cnjax bl  i znw"kd ds dkj.k
eq[ ; r% gksrk gSA
(1) dkcZu&MkbvkWDl kbM rFkk l Yi Qj vkWDl kbM
(2) dkcZu eksuksvkWDl kbM rFkk ukbVªkst u MkbZvkWDl kbM
(3) l Yi Qj VªkbvkWDl kbM rFkk dkcZu eksuksvkWDl kbM
(4) l Yi Qj MkbvkWDl kbM rFkk ukbVªkst u MkbvkWDl kbM
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50. The full form of CNG is :
(1) Compressed natural gas
(2) Combined natural gas
(3) Compressed new gases
(4) Combined new gases

51. The value of [(–4)  (–9) (–25)]   [(–2) (–3) (–5)]
is _______ .
(1) 10 (2) 20 (3) 30 (4)40

52. In the figure (not drawn to scale), AHB, CHD and
EHF are straight lines. Find x.

A B

G
E

C

H

F

D
50°

72°
42°

x

(1) 25° (2) 16° (3) 27° (4)28°
53. One third of Arun’s marks in Mathematics

exceeds a half of his marks in English by 30. If
he got 240 marks in the two subjects together,
how many marks did he get in English ?
(1) 180 (2) 60 (3) 78 (4)110

54. The product of two numbers is 
28
27


. If one of the

numbers is 
4
9


, find the other.

(1)
8
3 (2)

17
3 (3)

7
3 (4)

8
3

55. By what least number should 324 be multiplied
to get a perfect cube ?
(1) 12 (2) 14 (3) 16 (4)18

56. In a 3-digit number, the hundreds digit is twice
the tens digit while the units digit is thrice the
tens digit. Also, the sum of its digits is 18. Find
the number.
(1) 739 (2) 545 (3) 639 (4)585

57. Half of a herd of deer are grazing in the field and
three-fourths of the remaining are playing
nearby. The rest 9 are drinking water from the
pond. Find the number of deer in the herd.
(1) 72 (2) 62 (3) 102 (4)82

50. CNG dk i wjk uke gS &
(1) l Ei hfM+r i zkdf̀rd xSl
(2) fefJr i zkdf̀rd xSsl
(3) LEi hfM+r ubZ xSl
(4) fefJr ubZ xSl

51. [(–4)  (–9)  (–25)]   [(–2)  (–3)  (–5)] dk eku
_______ gSA
(1) 10 (2) 20 (3) 30 (4)40

52. fp=k esa ( fcuk Ldsy [ khapk gqvk) , AHB, CHD rFkk EHF l hèkh
js[ kk, ¡ gSA x Kkr djsaA

A B

G
E

C

H

F

D
50°

72°
42°

x

(1) 25° (2) 16° (3) 27° (4)28°

53. xf.kr esa v : .k dk , d frgkbZ vad] ml ds vaxzst h ds vad ds vkèks
l s 30 c<+rk gSA ; fn og nks fo"k; ksa esa , d l kFk 240 vad i zkIr
djrk gS rks og vaxzst h esa fdruk vad i zkIr djsxk \
(1) 180 (2) 60 (3) 78 (4)110

54. nks l a[ ; kvksa dk xq.kui Qy 28
27


 gSA  ; fn muesa l s , d l a[ ; k¡  4
9


gks rks nwl js dks Kkr djsaA

(1)
8
3 (2)

17
3 (3)

7
3 (4)

8
3

55. i w.kZ ?ku i zkIr djus ds fy,  324 dks fdl  l cl s NksVh l a[ ; k l s xq.kk
fd; k t k, xk \
(1) 12 (2) 14 (3) 16 (4) 18

56. 3 vadksa dh l a[ ; k esa] l SdM+s dk vad ] ngkbZ ds vad dk nqxq.kk
gS ogha bdkbZ vad] ngkbZ vad dk rhu xq.kk gS vkSj bu vadks dk
; ksx 18 gSA l a[ ; k Kkr djsaA
(1) 739 (2) 545 (3) 639 (4) 585

57. fgju ds , d >q.M dk vk/ k eSnku esa pj jgk gS rFkk cps gq,  dk
rhu&pkSFkkbZ i kl  esa [ ksy jgk gSA cpk gqvk 9 rkykc l s i kuh i h jgk
gSA >q.M esa fgjuksa dh l a[ ; k Kkr djsaA
(1) 72 (2) 62 (3) 102 (4) 82
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58. Harish sold a bicycle at 8% gain. Had it been
sold for  75 more, the gain would have been
14%. Find the cost price of the bicycle.

(1)  1050 (2)  1150

(3)  2250 (4)  1250

59. The annual rate of growth in population of a town
is 10%. If its present population is 33275, what
was it 3 years ago ?

(1) 27500 (2) 30000

(3) 25000 (4) 26000

60. A and B together can do a piece of work in
12 days; B and C can do it in 20 days while C and
A can do it in 15 days. A, B and C all working
together can do it in :

(1) 6 days (2) 9 days

(3) 10 days (4)
110
2 days

61. A field is 80 m long and 50 m broad. In one corner
of the field, a pit which is 10 m long, 7.5 m broad
and 8 m deep has been dug out. The earth taken
out of it is evenly spread over the remaining part
of the field. Find the rise in the level of the field.

(1) 25.3 cm (2) 15.3 cm

(3) 23.4 cm (4) 24.6 cm

62. The length, breadth and height of a cuboid are
in the ratio 3 : 4 : 6 and its volume is 576 cm3.
The whole surface area of the cuboid is :

(1) 216 cm2 (2) 324 cm2

(3) 432 cm2 (4) 460 cm2

63. An iron pipe is 21 cm long
and its external diameter is
8 cm. If the thickness of the
pipe is 1 cm and iron weighs
8 g/cm3, find the weight of
the pipe.
(1) 3.696 kg
(2) 4.696 kg
(3) 5.596 kg         

3 cm

21
 c

m

(4) 4.285 kg

58. gjh' k 8% ykHk i j , d l kbfdy cspkA bl s 75 : ñ v f/ d esa cspk
t krk rks og 14% ykHk i krkA l kbfdy dh dher Kkr djsaA

(1)  1050 (2)  1150

(3)  2250 (4)  1250

59. fdl h ' kgj esa l kykuk t ul a[ ; k òf¼ dh nj 10% gSA ; fn bl dh
oÙkZeku t ul a[ ; k 33275 gS rks 3 l ky i gys ; g D; k Fkh \

(1) 27500 (2) 30000

(3) 25000 (4) 26000

60. A rFkk B , d l kFk , d dke dks 12 fnuksa esa djrk gS] B rFkk C
bl  dke dks 20 fnuksa esa djrk gS ogha C rFkk A bl s 15 fnuksa esa
djrk gSA A, B rFkk C l Hkh , d l kFk bl s djsxsa &

(1) 6 fnuksa esa (2) 9 fnuksa esa

(3) 10 fnuksa esa (4)
110
2  fnuksa esa

61. , d [ ksr 80  ehVj yEck rFkk 50 ehVj pkSM+k gSA [ ksr ds , d dksus
esa , d xM~Bk [ kksnk x; k t ks 10 ehVj yEck] 7.5 ehVj pkSM+k rFkk
8 ehVj xgjk gSA xM~<sa l s fudyh feV~Vh dks [ ksr ds cps fgLl s esa
i QSyk fn; k x; kA [ ksr ds c<+s gq,  Lrj dks Kkr djsaA

(1) 25.3 cm (2) 15.3 cm

(3) 23.4 cm (4) 24.6 cm

62. fdl h ?kukHk dh yEckbZ] pkSM+kbZ rFkk Å¡pkbZ 3 : 4 : 6 ds vuqi kr
esa gS rFkk bl dh vk; ru 576 cm3 gSA ?kukHk dk dqy i "̀B
{ks=ki Qy gS &

(1) 216 cm2 (2) 324 cm2

(3) 432 cm2 (4) 460 cm2

63. 21 cm yEch , d yksgs dh uyh
gS rFkk ckg~;  O; kl  8 cm gSA ; fn
uyh dh eksVkbZ 1 cm gS rFkk yksgs
dk Hkkj 8 g/cm3 rks uyh dk
ot u Kkr djsaA
(1) 3.696 kg

(2) 4.696 kg

(3) 5.596 kg    

3 cm

21
 c

m

(4) 4.285 kg
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64. Name the property of rational numbers
illustrated by the given statement.

7 8 13 7 8 7 13
4 3 12 4 3 4 12

          
 

(1) Commutativity
(2) Associativity of multiplication
(3) Distributivity of multiplication over addition
(4) Distributivity of addition over multiplication

65. Solution of the equation
   6(3x + 2) – 5(6x – 1) = 6(x – 3) – 5(7x – 6) + 12x
is ______ .
(1) –1 (2) 1 (3) 0 (4)2

66. To construct a convex quadrilateral, which of the
following cases is not correct ?
(1) When the lengths of four sides and one

diagonal are given.
(2) When the lengths of three sides and the two

diagonals are given.
(3) When the lengths of four sides and one angle

are given.
(4) When the lengths of two sides and two

included angles are given.

67.
6 3 21

3
9 12

a b c
c a

  




(1)
3

2

bc
a


(2)
4

2

bc
a

(3)
4

2

ab
c


(4)

4

2

bc
a


68. The given pie chart gives the marks scored in
an examination by a student in English, Hindi,
Science & Technology, Social Science and
Mathematics. If the total marks obtained by the
student were 540. The subject in which the
student scored 105 marks, is ______ .

Engli
sh

Mathem
atics55°

Social
Science

Science &
Technology

Hindi
90°
65°

80°
70°

(1) English (2) Mathematics
(3) Social Science (4) Hindi

64. fn,  x,  dFku }kjk t ks i fjes;  l a[ ; kvksa ds xq.k dh O; k[ ; k djrh
gS ml dk uke gS &

7 8 13 7 8 7 13
4 3 12 4 3 4 12

          
 

(1) Øepfjrk
(2) xq.kui Qy dk l gpkfjrk
(3) ; ksx i j xq.kui Qy dk forj.k
(4) xq.kui Qy i j ; ksx dk forj.k

65. l ehdj.k
   6(3x + 2) – 5(6x – 1) = 6(x – 3) – 5(7x – 6) + 12x
dk gy  ______ gSA
(1) –1 (2) 1 (3) 0 (4)2

66. mÙky prqHkqZt  cukus ds fy,  fuEufyf[ kr fLFkfr; ksa esa dkSu l gh ugha
gS\
(1) t c pkjksa Hkqt kvksa dh yEckbZ rFkk , d fod.kZ fn; k x; k gksA
(2) t c rhu Hkqt kvksa dh yEckbZ rFkk nks fod.kZ fn; k x; k gksA
(3) t c pkj Hkqt kvksa dh yEckbZ rFkk , d dks.k fn; k x; k gksA
(4) t c nks Hkqt kvksa dh yEckbZ rFkk nks vUrxZr dks.k fn; k x; k gksA

67.
6 3 21

3
9 12

a b c
c a

  




(1)
3

2

bc
a


(2)
4

2

bc
a

(3)
4

2

ab
c


(4)

4

2

bc
a


68. fn; k x; k i kbZ&pkVZ ] vaxzst h] fgUnh] foKku o rduhdh] l ekt
foKku rFkk xf.kr esa Nk=kksa }kjk i jh{kk esa i zkIr vadksa dks n' kkZrk gSA
; fn Nk=kksa }kjk i zkIr dqy vad 540 Fks rks og fo"k;  _____ gS
ft l esa Nk=k 105 vad i zkIr fd,  gSA

55°

l ekt
vè; ; u

90°
65°

80°
70°

xf.kr

foKku rFkk
rduhdh

fgUnh

vaxzst h

(1) vaxzst h (2) xf.kr
(3) l ekt  vè; ; u (4) fgUnh
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69. The value of 
2001 1999

2000 1998

2 2
2 2


 , is ______ .

(1) 2 (2) 10/3

(3) 21000 + 1 (4) 10

70. If x x 110 3 3 81
3

   , then the value of x is ____.

(1) 2 (2) 1 (3) 3 (4)0

71. The real factors of x2 + 16 are ______ .

(1) (x2 + 2) (x2 – 2) (2) (x + 4)(x – 4)

(3) Does not exist (4) (x + 2)(x – 2)

72. Expansion of (2a + 3b + 4c)2 is ______ .

(1) 4a2 + 9b2 + 16c2 + 12ab + 24bc + 16ca

(2) 4a2 + 9b2 + 16c2 + 6ab + 12bc + 8ca

(3) 4a2 + 9b2 + 16c2 + 16ab + 12bc + 12ca

(4) 4a2 + 9b2 + 16c2 + 24ab + 16bc + 12ca

73. Factorise : ab(x2 + y2) + xy(a2 + b2).

(1) (bx + ay) (ax + by) (2) (x + by) (y + ax)

(3) (x + ay) (y + by) (4) (a + aby) (ax – by)

74. The number of coins, each of radius 0.75 cm and
thickness 0.2 cm, to be melted to make a right
circular cylinder of height 8 cm and base radius
3 cm is :

(1) 460 (2) 500

(3) 600 (4) 640

75. In the adjoining figure, ABCD is a parallelogram
in which CAD 40 , BAC 35       and
COD = 65°. Calculate : ABD

65°

O

D C

BA

40°
35°

(1) 40° (2) 60° (3) 80° (4)105°

69.
2001 1999

2000 1998

2 2
2 2


 , dk eku ______ gSA

(1) 2 (2) 10/3

(3) 21000 + 1 (4) 10

70. ; fn x x 110 3 3 81
3

   , rks x dk eku ____ gSA

(1) 2 (2) 1 (3) 3 (4)0

71. x2 + 16 dk okLrfod xq.ku[ k.M  ______ gSA
(1) (x2 + 2) (x2 – 2) (2) (x + 4)(x – 4)

(3) v fLrRo esa ugha gSa (4) (x + 2)(x – 2)

72. (2a + 3b + 4c)2  dk foLrkj ______ gSA
(1) 4a2 + 9b2 + 16c2 + 12ab + 24bc + 16ca

(2) 4a2 + 9b2 + 16c2 + 6ab + 12bc + 8ca

(3) 4a2 + 9b2 + 16c2 + 16ab + 12bc + 12ca

(4) 4a2 + 9b2 + 16c2 + 24ab + 16bc + 12ca

73. xq.ku[ k.M djsa&  ab(x2 + y2) + xy(a2 + b2).

(1) (bx + ay) (ax + by) (2) (x + by) (y + ax)

(3) (x + ay) (y + by) (4) (a + aby) (ax – by)

74. fl Ddksa dh dqN l a[ ; k] i zR; sd dh f=kT; k 0.75 cm rFkk eksVkbZ
0.2 cm gS] 8 cm Å¡pkbZ rFkk 3 cm f=kT; k ds vk/ kj dh , d
l edks.k òÙkkdkj csyu cukus ds fy,  fi ?kyk; k x; k] l a[ ; k gSA
(1) 460 (2) 500

(3) 600 (4) 640

75. l ayXu fp=k esa ABCD , d l ekUr j  prqHkqZt  gS ft l esa
CAD 40 , BAC 35       r Fkk COD = 65° |

ABD dh x.kuk djsaA

65°

O

D C

BA

40°
35°

(1) 40° (2) 60° (3) 80° (4)105°
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76. In the adjacent figure, ABCD is a rhombus whose
diagonals AC and BD intersect at a point O. If
side AB = 10 cm and diagonal BD = 16 cm, find
the length of diagonal AC.

D C

A B

O

(1) 12 cm (2) 16 cm (3) 24 cm (4)18 cm

77. A pump can fill a tank in 2 hours. Due to a leak

in the tank it takes 
12
3  hours to fill the tank.

The leak can empty the full tank in :

(1)
12
3  hours (2) 7 hours

(3) 8 hours (4) 14 hours

78. If an article is sold at a gain of 5% instead of
being sold at a loss of 5%, a man gets  5 more.
what is the cost price of the article ?

(1)  50 (2)  40 (3)  60 (4)  80

79. How much per cent above the cost price should
a shopkeeper mark his goods so that after
allowing a discount of 25% on the marked price,
he gains 20% ?

(1) 60% (2) 50% (3) 65% (4)55%

80. pq2 + q(p – 1) – 1 = ?

(1) (pq + 1)(q – 1) (2) p(q + 1)(q – 1)

(3) q(p – 1)(q + 1) (4) (pq – 1)(q + 1)

81. Select a figure from amongst the options which
will continue the same series as established by
the problem figure.

?

(1) (2) (3) (4)

82. 29, 34, 32, 37, 35, ?

(1) 36 (2) 39 (3) 40 (4)42

76. l ayXu fp=k esa] ABCD , d l eprqHkqZt  gS ft l dh fod.ks± AC rFkk
BD, fcUnq O i j  i zfrPNsn djrh gSA ; fn Hkqt k AB = 10 cm rFkk
fod.kZ BD = 16 cm rks fod.kZ AC dh yEckbZ Kkr djsaA

D C

A B

O

(1) 12 cm (2) 16 cm (3) 24 cm (4)18 cm

77. , d i Ei  , d Vadh dks 2 ?kaVs esa Hkjrk gSA Vadh esa fj l ko ds dkj.k

; g Vadh Hkjus esa 12
3  ?kaVk ysrk gSA fj l ko i wjh Vadh dks [ kkyh dj

l drk gS &

(1)
12
3  ?kaVs esa (2) 7 ?kaVs esa

(3) 8 ?kaVs esa (4) 14 ?kaVs esa
78. ; fn , d oLrq dks 5% ykHk i j cspk x; k bl ds ckot wn 5% dh

gkfu i j cspk x; k rks vkneh 5 : ñ v f/ d i zkIr djrk gSA oLrq dk
Ø; ewY;  D; k gS \
(1) 50 : ñ (2) 40 : ñ (3) 60 : ñ (4) 80 : ñ

79. , d nwdkunkj v i us oLrq i j Ø; ewY;  l s fdruk v f/ d fy[ krk gS
rkfd fyf[ kr ewY;  i j 25% dk NwV nsus ds ckn Hkh og 20% ykHk
i krk gS\
(1) 60% (2) 50% (3) 65% (4) 55%

80. pq2 + q(p – 1) – 1 = ?

(1) (pq + 1)(q – 1) (2) p(q + 1)(q – 1)

(3) q(p – 1)(q + 1) (4) (pq – 1)(q + 1)

81. fodYi ksa l s l gh fp=k dks pqusa t ks i z' u fp=k ds ml h Jà[ kyk dks vkxs
c<+k, xkA

?

(1) (2) (3) (4)

82. 29, 34, 32, 37, 35, ?

(1) 36 (2) 39 (3) 40 (4)42
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83. A matrix of certain characters is given. These
characters follow a certain trend, row-wise or
column-wise. Find out this trend and choose the
missing character from the given options.

46656

?

2562

2

24

3

2

(1) 2765 (2) 3125 (3) 8796 (4)30008
84. Select a figure from the options as to how the

pattern would appear when the transparent
sheet is folded along the dotted line.

(1) (2)

(3) (4)

85. Arrange the given below words in the order as
in a dictionary.
(i)   Mercury (ii) Showroom
(iii) Rice (iv)Petrol
(v)   Organs
(1) (i), (v), (iv), (ii), (iii) (2) (i), (iv), (v), (iii), (ii)
(3) (i), (v), (iv), (iii), (ii) (4) (ii), (iii), (iv), (v), (i)

86. A piece of paper is folded in such a manner as
shown and punched. Select the unfolded form of
piece of paper

(1) (2)

(3) (4)

83. dqN vadksa ds eSfVªDl  fn,  x,  gSA ; s vad i afDr esa rFkk LraHk esa , d
fuf' pr i zòfr dk vuql j.k djrs gSaA bl  i zòfÙk dks Kkr djsa rFkk
fn,  x,  fodYi  l s yqIr vad dks pqusaA

46656

?

2562

2

24

3

2

(1) 2765 (2) 3125 (3) 8796 (4)30008
84. fodYi  l s fp=k dks pqusa rkfd i kjn' khZ dkxt  dks fcUnq js[ kk ds

vuqfn' k eksM+us i j , sl k Lo: i  gksA

(1) (2)

(3) (4)

85. uhps fn,  x,  ' kCnksa dks ' kCndks"k ds Øe dks rjg l t k, ¡ &
(i)   Mercury (ii) Showroom
(iii) Rice (iv)Petrol
(v)   Organs
(1) (i), (v), (iv), (ii), (iii) (2) (i), (iv), (v), (iii), (ii)
(3) (i), (v), (iv), (iii), (ii) (4) (ii), (iii), (iv), (v), (i)

86. , d dkxt  ds VqdM+s dks fn[ kk,  x,  vuql kj eksM+s rFkk dkVsaA dkxt
ds VqdM+s dks [ kksyus i j i zkIr VqdM+s dks pqusaA

(1) (2)

(3) (4)
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87. Mohit travels 7 km to the north. Then he turns
to the right and walks 3km. Then again he turns
to his right and moves 7 km forward. How many
km away is he from the starting point?
(1) 10 (2) 20 (3) 13 (4)3

88. In a certain code language,
(A) 'po ki top ma' means 'Usha is playing cards'.
(B) 'kob ja ki ma' means 'Asha is playing tennis'.
(C) 'ki top so ho' means 'They are playing football'.
(D) 'po sur kob' means 'Cards and tennis'.
Which word in that language means 'Asha'?
(1) ja (2) ma (3) kob (4) top

89. Select the odd one out.

(1) (2)

(3) (4)

90. Which number will replace the question mark?

10 18
8

6 14

4

  

14 22
8

6 14

8

    6
4
?

11 15

5

(1) 8 (2) 4 (3) 10 (4)6
91. Two positions of a dice are shown. When 4 is at

the bottom, what number will be on the top?

1
2

3

1
6

5

(1) 1 (2) 2 (3) 5 (4)6
92. Select the combination of number so that letters

arranged accordingly will form a meaningful
word.
R A C E T
1 2  3 4 5
(1) 1, 2, 3, 4, 5 (2) 3, 2, 1, 4, 5
(3) 5, 2, 3, 4, 1 (4) 5, 1, 2, 3, 4

87. eksfgr mÙkj dh vksj 7 km pyrk gSA fi Qj og nk, ¡ eqM+rk gS rFkk
3 km pyrk gSA fi Qj og v i us nk, ¡ eqM+rk gS rFkk 7 km vkxs
pyrk gSA og i zkjafHkd fcUnq l s fdruh nwj gS\
(1) 10 (2) 20 (3) 13 (4)3

88. fdl h l kadsfrd Hkk"kk esa &
(A) 'po ki top ma' dk eryc 'Usha is playing cards'.
(B) 'kob ja ki ma' dk eryc 'Asha is playing tennis'.
(C) 'ki top so ho' dk eryc 'They are playing football'.
(D) 'po sur kob' dk eryc 'Cards and tennis'.
bl  Hkk"kk esa  'Asha' dk eryc dkSu l k ' kCn gS ?
(1) ja (2) ma (3) kob (4) top

89. fHkUu dks pqusa &

(1) (2)

(3) (4)

90. dkSu l h l a[ ; k i z' uokpd fpg~u dks foLFkkfi r djsxh\

10 18
8

6 14

4

  

14 22
8

6 14

8

    6
4
?

11 15

5

(1) 8 (2) 4 (3) 10 (4)6
91. , d i kl s dh nks fLFkfr; k¡ fn[ kk; h x; h gSA t c 4 i "̀B l rg i j gS

rks ' kh"kZ i j dkSu l h l a[ ; k gksxh ?

1
2

3

1
6

5

(1) 1 (2) 2 (3) 5 (4)6
92. l a[ ; kvksa ds l a; kst u dks pqusa ft l s bl  i zdkj l t k; k x; k gS fd , d

vFkZi w.kZ ' kCn cus &
R A C E T
1 2  3 4 5
(1) 1, 2, 3, 4, 5 (2) 3, 2, 1, 4, 5
(3) 5, 2, 3, 4, 1 (4) 5, 1, 2, 3, 4



Space For Rough Work
016

93. Pointing to a man in a photograph, a woman said,
"His brother's father is the only son of my
grandfather." How is the woman related to the
man in the photograph?
(1) Mother (2) Aunt
(3) Sister (4) Daughter

94. In a group of cows and hens, the number of legs
are 14 more than twice the number of heads.
How many cows are in the group?
(1) 5 (2) 7 (3) 11 (4)12

95. Problem Figures?

?
(A) (B) (C) (D)

Answer Figures

(1) (2) (3) (4)

96.
13 E 9 ? 5 M
C 11 G ? K 3

(1) I and 7 (2) 7 and I
(3) 15  and J (4) J and 15

97. If Kamal says, "Ravi's mother is only daughter of
my mother". How Kamal is related to Ravi?
(1) Maternal Uncle
(2) Father
(3) Brother
(4) Cannot be determined

98. If 453945 stands for DECIDE, then how 8978 is
written?
(1) BHEF (2) CDEH (3) GHEF (4)HIGH

99. 9 : 80 : : 7 : ?
(1) 48 (2) 50 (3) 78 (4)82

100. 3, 7, 15, 27, 43, 63 ?
(1) 86 (2) 87 (3) 89 (4)90

93. , d vkSjr fp=k esa fLFkr , d vkneh dks fn[ kkrs gq,  dgrh gS]
¶bl ds HkkbZ ds fi rk] esjs nknk ds bdykSrs csVs gSa̧A vkSjr fp=k esa
fLFkfr vkneh l s dSl s l acaf/ r gS\
(1) ek¡ (2) pkph
(3) cgu (4) csVh

94. xk; ksa rFkk eqxks± ds l ewg esa i Sjks dh l a[ ; k fl j dh l a[ ; k ds nqxqus
l s 14 v f/ d gSA l ewg esa fdruh xk; sa gSa\
(1) 5 (2) 7 (3) 11 (4)12

95. i z' u fp=k

?
(A) (B) (C) (D)

mÙkj fp=k

(1) (2) (3) (4)

96.
13 E 9 ? 5 M
C 11 G ? K 3

(1) I rFkk 7 (2) 7 rFkk I
(3) 15  rFkk J (4) J rFkk 15

97. dey dgrk gS] *jfo dh ek¡ esjh ek¡ dh bdykSrh csVh gSA* dey]
jfo l s dSl s l acaf/ r gSA
(1) ekek
(2) fi rk
(3) HkkbZ
(4) dgk ugha t k l drkA

98. ; fn 453945 , DECIDE  ds fy,  fy[ kk t krk gS rks 8978 dks
dSl s fy[ kk t k, xk\
(1) BHEF (2) CDEH (3) GHEF (4)HIGH

99. 9 : 80 : : 7 : ?
(1) 48 (2) 50 (3) 78 (4)82

100. 3, 7, 15, 27, 43, 63 ?
(1) 86 (2) 87 (3) 89 (4)90
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